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Easter Algebra

Each symbol represents a number.  Use your knowledge of inverse 
operations to calculate the value of each symbol.

+ 56 = 87 =

– 34 = 56 =

x 7 = 42 =

– 39 = 63 =

x 8 = 72 =

x 9 = 108 =

+ 67 = 124 =

– 56 = 132 =

x 11 = 110 =

x 12 = 132 =

Like this? Find more differentiated 
Easter resources here.

http://www.classroomsecrets.co.uk/tag/easter
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Easter Algebra

Each symbol represents a number.  Use your knowledge of inverse 
operations to calculate the value of each symbol.

+ 56 = 87 = 31 

– 34 = 56 = 90

x 7 = 42 = 6

– 39 = 63 = 102

x 8 = 72 = 9

x 9 = 108 = 12

+ 67 = 124 = 57

– 56 = 132 = 188

x 11 = 110 = 10

x 12 = 132 = 11

Like this? Find more differentiated 
Easter resources here.

http://www.classroomsecrets.co.uk/tag/easter
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